Sk

g
Tl
>

1. ¥¥4
¥4 SF6 - T LN AR i G RRT 3E5
JEATST JURNJRR S ESETE N

2. EBEAR
1) FEF4 JIPIRA N HES AT Fetgia kR
514 HRH H 4&Ff 64 7TH24H

2) JE1THIR
£ o THF12H19H

3) wHwyI
AHETSIL, 119 KRIT) G022 300 1 7 B T F B R DB,

FEAERTE A = 2 —ORFIEFEORIRG 21T 2 FH TH D,

4) FEHBNA
B TRRCAAGE ) RO THERIEER) 0LBD,

E+sZi@E SN



m
B
P
I

L | BN6 - TN F AR 25 ¥ BGES
H H D) 5 B
THH - THE - FER BT #H = 4 H OB RR
1)1 B T & ! 16, 693, 200
A7) A & B 2V 1 16, 693, 200
R = 1 250, 700 | FH-EiHEf
1 X
EORHIN AR
1 K
TR0 1A B I AT AR X 1 1, 680, 200 | A1) 1IFi AT SHE IZ B3 HRK
AR 1 X
Hefi 3 B AR RO
1 X
FEAEEHE A = = — O 2V 1 3,793,400 | {EEENH A = = —RF
1 X
WSS DRt
1 X
kg — M~ v 7HEt
1 X
) N BfE R OB x5 Rt 2y 1 2,933,000 | JOESAT
1 =
BEERRORT
1 =
W AR E
1 =
Kot Mtk
1 =
BT
1 =
SR BT B R
1 =
NBREEZ B 2 #ad = 1 2,837,300 | BREZBLEEEIOUE - FHE
1 =

-1- E+sZi@E SN



ull
P

==
=]

WA | A6 - TEENIPNKGRIT 3 R 35 E BOES
H H 1A B R
THH - T - fER] A7 # 4 % OB ORR
BREZ I OBLERMFHE RO VERL
1 =
U 27 J1—T kit =X 1,259,000 | URY H—TEt
1 =X
TN M2 B (FL50) ofst 2V 1,115,000 | {Af)I[#fm 2SS () OME
1 =X
W RS ERR =X 2,357,600 | “FikEIRRESOEE LiE
1 =X
BRI B s & B ERK
1 =X
Py 2 467,000 | EEVER
1 =
I5m = 676, 000
Him GREE5) = 676, 000
frowe = 676,000 | ¥T&tE
1 A
E R = 466, 801
PR = 466, 801
S Gk - = 258,801 | fick (Fi k- 1510ME)
1 =
Ty R = 208,000 | HEFpRAanIERTR
1 =
EHERAM (ZOMEmER <) = 17, 836, 001
Z OFA = 9,353,314
— R R = 14, 640, 685

E+sZi@E SN



FEH N

%lljll
I

WA | AF6 o 7PN RI) B 5 RRaT255 ER i XETER
HH B3
HHE « 1Tff - fiihl B fif W& & FH MR N R
SERSMA = 1 41, 830, 000
— 3 —

E+sZi@E SN



